

۱۸، ۵

نام و نام خانوادگی: پاسخنامه تشریحی تکلیف شماره ۲۳ کلاس بیاض (۱۳۹۷).....

$$\log_n^m = a \quad \log_{mn}^{m'n} = b \quad a > 0 \quad [b] = ? \Rightarrow [b] = \overline{1}$$

$$b = \log_{mn}^{m'n} = \log_{n \times n}^{n^a \times n^b} = \log_n^{n^{a+b}} = a+b \quad \Rightarrow b = \frac{a+1}{a+1} = \frac{a+1-1}{a+1} = \frac{a}{a+1} \quad \Rightarrow 1 < b < 2$$

$$g(x) = \sqrt{\frac{x}{\log \frac{1}{x}}}$$

$$\log \frac{1}{x} \neq 0 \Rightarrow x \neq 1$$

$$\frac{x}{\log \frac{1}{x}} > 0 \Rightarrow x > 0$$

$$D_f = (0, +\infty) - \{1\}$$

$$y = \log \frac{(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1} \quad x^2 - x - 2 > 0 \quad \Delta = 1 + 8 = 9$$

$$x = \frac{1 \pm 3}{2} \Rightarrow x = -1, 2$$

$$x < -1, x > 2$$

$$x^2 - 1 > 0 \Rightarrow x < -1 \text{ or } x > 1$$

$$x < -1$$

$$D_f = (-\infty, -1) \cup (2, +\infty)$$

$$\frac{a}{x} > 0 \rightarrow y < 0 \rightarrow x < 1 \rightarrow \begin{cases} x > 0 \\ x < 1 \end{cases} \rightarrow 0 < x < 1$$

$$2 \log x + \log \sqrt{x} = 2, \quad x = 9$$

$$a = ?$$

$$2 \log a + \log \sqrt{a} = 2 \Rightarrow \frac{2}{\log a} + \log a - 2 = 0 \Rightarrow \frac{2}{t} + t - 2 = 0 \Rightarrow t^2 - 2t + 1 = 0$$

$$\Delta = 4 - 4 = 0 \quad t = 1 \quad \log a = 1 \Rightarrow a = 10$$

$$\log 2 = 0.18, \log 3 = 0.18$$

$$(\log \frac{a}{b})^x + (\log 9)^x - \log 15 = 0 \Rightarrow 0.18^x + 0.18^x - 1.18 = 0$$

$$2 \cdot 0.18^x - 1.18 = 0 \Rightarrow 0.18^x = 0.59$$

$$\Delta = 4 \cdot 0.18^2 - 1.18^2 = 1.44$$

$$\log 15 = \log \frac{30}{2} = \log 30 - \log 2 = \log 3 + \log 10 - \log 2 = 0.18 + 1 - 0.18 = 1.18$$

$$\log \frac{a}{b} = \log a - \log b = \log 10 - \log 2 - \log 3 = 1 - 0.18 - 0.18 = 0.64$$

$$x = \frac{-1.18 \pm 1.18}{2} \Rightarrow x = 0, -1.18$$

$$\sqrt{\frac{1.18}{0.18}} = \text{مقدار ریشه ها}$$

$$\log 2 = 0.18, \log 3 = 0.18$$

$$\log \frac{10}{18} = ? = \log \frac{5}{9} = \frac{\log 5}{\log 9} = \frac{\log 5 + \log 2}{\log 2 + \log 3} = \frac{1 + 0.18}{0.18 + 0.18} = \frac{1.18}{0.36} = 3.28$$

$$\log 2 = \frac{1}{\log \frac{1}{2}} = 2$$

$$\approx 0.189$$

۵

$$\log_{\mu}^{\omega} = 1/10, \log_{\mu}^{\mu} = 1/4$$

$$\log_{\Delta} \mu = \frac{1}{\frac{\log_{\mu} \Delta}{1/\Delta}} = \frac{\mu}{\mu}$$

$$\log_{14}^v = \frac{1}{\frac{\log_{14}^v}{14}} = \frac{10}{14}$$

$$\log 15 = 7$$

$$L \rightarrow \frac{\log^q p}{\log^{10} p} = \frac{\log^q p + \log^p p}{\log^q p + \log^p p} = \frac{\cancel{10} + 1}{10 + 1} = \frac{11}{11} = 1$$

$$\log_{p \times q} p \times q = m$$

$$\log_{K^r \times r} 11^{r \times r} = \frac{\log 11^{r \times r}}{\log K^r \times r} = \frac{\cancel{r \log 11} + \log r}{r} = 1 + \frac{\log r}{r} = 1 + \frac{r-1}{r} = \frac{r+r-1}{r} = \frac{2r-1}{r}$$

$$\begin{aligned} \frac{\log^1 r}{\log^1 r} &= \frac{\log^1 r}{r} = \frac{\log^1 r + \log^1 r^{r-1}}{r} = \frac{\log^1 r + (r-1) \log^1 r}{r} = m = 1 + (r-1) \log^1 r = r \log^1 r \\ \frac{\log^1 r^{r-1}}{r \log^1 r} &= r \log^1 r = r(m-1) \\ &= r \log^1 r = \frac{r(m-1)}{r} \end{aligned}$$

$$\begin{aligned} \left(\frac{14}{\Delta}\right)^x &= (0.1)^{4x-1} & \log_{\Delta} &= \begin{cases} x = \frac{1}{4} \Rightarrow \log_{\Delta} \frac{14}{\Delta} = \frac{1}{4} \\ x = -1 \Rightarrow \log_{\Delta} (-1) \rightarrow \text{invalid} \end{cases} \\ \left(\frac{\Delta}{14}\right)^x &= \left(\frac{1}{0.1}\right)^{4x-1} = \left(\frac{\Delta}{14}\right)^{-4x+1} \\ &= \left(\frac{\Delta}{14}\right)^{4x} x^y = \left(\frac{\Delta}{14}\right)^{-4x+1} \Rightarrow 4x = -4x+1 \Rightarrow 4x^y + 4x-1=0 \\ \Delta &= 14 & x &= \frac{-4 \pm \sqrt{16}}{4} = \begin{cases} \frac{1}{4} \\ -1 \end{cases} \end{aligned}$$

$$\log_{\psi}^{\psi} = a \quad \log_{\psi}^b = \frac{\psi}{\psi}(1+a) \quad \log(\psi b - 1) =$$

$$\log_r b = \frac{y}{y} (1+a) - r \frac{1}{y} \log_r b = \frac{y}{y} (1+a) = r \log_r b = \frac{y+ya}{\log_r y + r \log_r y} = \log_r yq \quad \text{--- } b = yq$$

$$\log(yq - 1) = \overline{r}$$

$$\text{konstante } S = -\frac{b}{a} = \frac{-b}{-ra} = +\frac{b}{ra} \Rightarrow \frac{1}{S} = \frac{ra}{b} = \log r = r \log r \Rightarrow \frac{ra}{b} = \log r \Rightarrow b = \frac{ra}{\log r}$$

$$a = \frac{b+c}{r} \Rightarrow r a = b+c \Rightarrow r a = \frac{r a}{\log r} + c \Rightarrow r c = r a - \frac{r a}{\log r} = r a \left(1 - \frac{1}{\log r}\right) \Rightarrow \frac{c}{a} = 1 - \frac{1}{\log r}$$

$$\log r \approx 0.14 \quad \Rightarrow \frac{C}{a} \approx -1 \quad -\frac{C}{\lambda a} = \frac{r}{\lambda} = \frac{1}{r} \quad \left(\frac{1}{\sqrt{r}}\right)^{\frac{C}{a}} = \left(\frac{1}{r^{\frac{1}{\lambda}}}\right)^{\frac{C}{a}} = (r^{-\frac{1}{\lambda}})^{\frac{C}{a}} = r^{-\frac{C}{\lambda a}}$$

$$a = \frac{b+c}{r} \rightarrow b = ra - c \rightarrow \frac{1}{2x_1 + 2lr} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra-c} = r \log^r$$

$$\rightarrow \frac{ra}{ra-c} = \log^r \xrightarrow{\text{cross}} \frac{ra-c}{ra} = \log_r^{1 \cdot} \rightarrow 1 - \log_r^{1 \cdot} = \frac{c}{ra} \rightarrow r - \log_r^{1 \cdot} = \frac{c}{a} \quad (1)$$

$$\left(\frac{1}{\sqrt[r]{r}} \right)^{\frac{c}{a}} = \left(r^{-\frac{1}{r}} \right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}} \right)^{-\frac{1}{r}} \xrightarrow{(1)} \left(r^{r - \log_r^{1 \cdot}} \right)^{-\frac{1}{r}}$$

$$\left(\frac{r^r}{r \log_r^{1 \cdot}} \right)^{-\frac{1}{r}} = \left(\frac{r}{\log_r^{1 \cdot}} \right)^{-\frac{1}{r}} = (r\omega)^{\frac{1}{r}} = \sqrt[r]{\omega}$$